SAP ABAP table CRMT BUS FRG0040 BW {BW Extraction: CRM Sales Classification}
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CRMC_ATTRO1

CLIENT [CLNT (3)]

ATTRIBUTE [CHAR (2)]

CRMC_ATTRO2

CLIENT [CLNT (3)]
ATTRIB_2 [CHAR (2)]

CRMC_ATTRO3

CLIENT [CLNT (3)]
ATTRIB_3 [CHAR (2)]

CRMC_ATTRO4

CLIENT [CLNT (3)]
ATTRIB_4 [CHAR (2)]

CRMC_ATTRO5

CLIENT [CLNT (3)]
ATTRIB_5 [CHAR (2)]

CRMC_ATTRO6

CLIENT [CLNT (3)]
ATTRIB_6 [CHAR (3)]

CRMC_ATTRO7

CLIENT [CLNT (3)]
ATTRIB_7 [CHAR (3)]

CRMC_ATTROS8

CLIENT [CLNT (3)]
ATTRIB_8 [CHAR (3)]

CRMC_ATTRO9

CLIENT [CLNT (3)]
ATTRIB_9 [CHAR (3)]

CRMC_ATTR10

CLIENT [CLNT (3)]

ATTRIB_10 [CHAR (3)]

CRMC_CLASSIF

CLIENT [CLNT (3)]

CLASSIFIC [CHAR (2)]

CRMC_INDUSTRY

CLIENT [CLNT (3)]

INDUSTRY [CHAR (4)]

CRMC_NIELSEN

CLIENT [CLNT (3)]

NIELSEN_ID [CHAR (2)]

CRMC_T077D

S CLIENT [CLNT (3)]

[ ACCOUNT _GROUP [CHAR (4)]




